
A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

© 2019 CommScope, Inc. Confidential
NOTICE: These drawings and specifications are the proprietary property of COMMSCOPE, INC.
and may be used only for the specific purpose authorized in writing by COMMSCOPE, INC.

FINISH MATERIAL

TITLEDRAFTER

CHECKER

ENGINEER DOCUMENT NO.

SHEET

SIZE SCALE

TOLERANCES SAP MATERIAL MASTER

SAP-ENTERPRISE-A2-2016-3RD.FRM

COMMSCOPE, INC.

SEE TABLE

SEE NOTES SEE NOTES

UN
LE

SS
 O

TH
ER

WI
SE

 S
PE

CI
FI

ED
 

DI
ME

NS
IO

NS
 A

RE
 I

N
MI

LL
IM

ET
ER

S

R. SCHOENFELDER
,

INSTALL DRAWING, SPLICE CABINET

J. SOLHEID A2 0.090 A19001767
CMO 40083434CMO

ALL SURFACES WORK AREA: 58 MODEL DRAWING

1 OF 2VERSION STATUS REVISION VERSION STATUS REVISION

00 00 RE A

PRE-ASSEMBLE #12-24 SCREWS
IN TOP HOLE OF ACCESSORY RAILS (2).

 
TURN IN SCREWS PART WAY WITH NO WASHERS.

 
WITH DOOR REMOVED,HANG CABINET 

ON TOP SCREWS USING KEYHOLE DETAIL.

FASTEN SPLICE CABINET TO CABLE
MANAGER ACCESSORY RAILS WITH

#12-24 SCREWS AND STAR WASHERS (4).
 

START ALL FASTENERS 
BEFORE TIGHTENING.

NOTES:
 
1. UNITS: INCHES [mm]

ACCESSORY RAILS

KEYHOLES FOR ASSEMBLY 
TO ACCESSORY RAILS

SPLICE CABINET
UPPER BACK VIEW

DOOR

SPLICE CABINET - MOUNT TO CABLE MANAGER AS SHOWN

GROUND LOCATION
#10-32 THREADS

(FASTENERS NOT PROVIDED)

SPLICE CABINET - FLEX FRAME MOUNTING

 REF14.64
371.9[ ]

 REF66.58
1691.2[ ]

 REF10.27
260.7[ ]

REVISIONS

REV CMO DATE APPROVED

A 40083434CMO 04-FEB-18 RCS

660003101 A

MID REV



A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

TITLE

DOCUMENT NO.

SHEET

SIZE SCALE

© 2019 CommScope, Inc. Confidential
NOTICE: These drawings and specifications are the proprietary property of COMMSCOPE, INC.
and may be used only for the specific purpose authorized in writing by COMMSCOPE, INC.

SAP-ENTERPRISE-A2-2016-3RD.FRM

COMMSCOPE, INC.

,
INSTALL DRAWING, SPLICE CABINET

A2 0.120 A19001767
DRAWING

2 OF 2VERSION STATUS REVISION

00 RE A

SPLICE CABINET - WALL MOUNT

NOTES:
 
1. ATTACH SPLICE CABINET TO MOUNTING BRACKETS WITH #12-42 SCREWS.
 
2. ATTACH MOUNTING BRACKETS TO WALL WITH 1/4" DIA. OR SMALLER FASTENERS.

WALL MOUNTING BRAKCETS

#12-24 SCREWS

#12-24 THREADED PEMS (7)
FOR MOUNTING BRACKET TO CABINET

16.00
406.4[ ]

3.50
88.9[ ]

  
FOR MOUNTING BRACKET TO WALL
0.27 6.7[ ]

0.75
19.1[ ]


	Sheet 1
	Sheet 2
	Views
	new_view_11
	new_view_13
	right_14



